Soustraction (A)

Calculez la différence.

30 — & = 06— 0 =

1 —8 = o0 —4 =

28 — 1 = 14 —8 =
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Soustraction Solutions (A)

Calculez la différence.

30—8=27 6—-5=71

1 —-—8=063 50—4=146

2R8—7T=21 14—-8=6
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Soustraction (B)

Calculez la différence.

D2 — [ = 15 — 2 =

33 — 3 = 30— =

90 — O = 21 — 6 =
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Soustraction Solutions (B)

Calculez la différence.

02—7=45 45— 2 =143

83 —3 =380 37—5=32

D —-—0=90 21 —6=15
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Soustraction (C)

Calculez la différence.

20 — 8 = M — 2 =
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Soustraction Solutions (C)

Calculez la différence.

20 —8=12 94—2=02

0 —4=24 21—3=24

20 —0 =21 o5060—2=054
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Soustraction (D)

Calculez la différence.

1 —3= 08 — 6 =
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Soustraction Solutions (D)

Calculez la différence.

20 —6=14 74—4="710

1—-3=068 98—-06=92

40 —1=139 76 —3 =73
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Soustraction (E)

Calculez la différence.

(8 — 1 = 10 —4 =

I8 =06 = 30 —9Y =

11 — 1= 10 —4 =
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Soustraction Solutions (E)

Calculez la différence.

3—7=71 10—4=606

I8=—06=12 35—9=20

41—1=40 10—-4=60
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Soustraction (F)

Calculez la différence.

28 — 1 = 15 —2=

10 —1 = 40 — 8 =
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Soustraction Solutions (F)

Calculez la différence.

2R8—7T=21 16—-2=13

41 —4=37 33—4=20

10—-1=9 40 -8 =32
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Soustraction (G)

Calculez la différence.

30 — & = 20 — 8 =

00 — 4 = 33— 9 =

60 — 3 = 30 — 1 =
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Soustraction Solutions (G)

Calculez la différence.

30 —383=28 20—-8=18

—4=>51 33-9=24

60 —3 =02 SO—-—1=34
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Soustraction (H)

Calculez la différence.

I8 — 7 = 43 — 6 =

([ — 5 = 18 =2 =

19 —9 = (2 —9 =
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Soustraction Solutions (H)

Calculez la différence.

B —7T=31 43 —-06=237

((—5=72 18—=2=106

19—-9=10 72—-9=063
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Soustraction (I)

Calculez la différence.

(3 — 8 = 48 — 9 =

09 — 8 = 82 — O =

D3 — [ = 47 —9 =
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Soustraction Solutions (I)

Calculez la différence.

(3 —8=05 48—-9 =239

69 —8=061 82—-—5=77

03— 7=40 47 -9 = 38
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Soustraction (J)

Calculez la différence.

32 —4 = 43 — 6 =

08 — 3 = 33 — 3 =

20 — 5 = 0l — 3 =
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Soustraction Solutions (J)

Calculez la différence.

32 —4=28 43 —-06=237

B —-3=9Y 83—3=230

20—50=15 o5l =3 =48
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